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BECC-132 : PRINCIPLES OF
MICROECONOMICS-II

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as per

instructions.

Section—A

Note : Answer any two questions from this Section.

2 x20=40

1. (a) State the features of an oligopolistic
market structure. What are the various
reasons that have led to emergence of this

market structure ? 15

(b) Comment with illustration on the marginal
revenue curve associated with kinked
demand curve of oligopolistic model given
by Paul M. Sweezy. 5

Lot-I P.T.O.



2.

(a)

(b)
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Distinguish between absolute advantage
and comparative advantage theory of
trade. 6

Consider two countries I and II producing
two commodities A and B. There is only
one factor of production, that is labour
hours. The table below gives labour hours
required by each country to produce a unit
of commodities A and B :

Labour hours needed to
produce a unit of

Country | Commodity A |Commodity B

I 12 3

II 24 4

Based on the above information, answer
the following :

(1) Which country has an absolute
advantage in producing commodity A ?
Give reasons. 5

(11) Which country has a comparative
advantage in producing commodity B ?
Give reasons. 5

(1) If trade takes place between both
given countries, which country will
export commodity A ? 4
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3. What is meant by Pareto efficient allocation of
resources ? Is perfect competitive market
equilibrium Pareto efficient ? Discuss using

appropriate diagrams. 5+ 15

4. (a) Discuss the underlying characteristics of
WTO. 5

(b) What are the impacts of major agreements
of the WTO on the Indian economy ? 15

Section—B

Note : Attempt any four questions from this
Section. 4 X 12=48

5. Distinguish between gross profit and net profit.
Discuss the Joseph Schumpeter’s theory of
profit. 4+8

6. Do you think that the concept of quasi-rent is
an extension of Ricardian concept of rent to
other factors of production ? Give reasons. 12

7. What 1s the difference between perfect
competition and monopolistic competition ?
How does a monopolistic firm attain
equilibrium in short-run period ? 4+8

8. Discuss the relationship between marginal
revenue, average revenue and price elasticity of
demand in case of a monopoly. 12

P.T.O.



9.

10.

11.
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Compare and contrast the demand for labour as
a factor of production under perfect competition
with that under imperfect competition. 12

What are the various causes of market failure ?
How 1is state intervention useful to address
these failures ? 6+6

Section—C

Write short notes on any three of the following :
3xX4=12

(1) TRIMS

(11) Adverse Selection

(i11) Public Good

(iv) Externalities

(v) Moral Hazard
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1. () Tk ITouleehil oIS oHaee sl fasrodd
JAEul TH IR GEAT 6 389 % ol

FRT ® §? 15

(@) Ofd TH. @ist & ewiyusR o fasfea
o W g1 W AN 9% TR Hd gU

39 W feooft wifsu) 5
2. (%) MR & TH o9 fagra iR gods
o g ¥ 9% sifau) 6

P.T.O.
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(@) & M 1T IR faar FifSw 3 A qen
B I oRgell 1 IR Fd & SN ThI
THHE S WYE S | Wifd 9| 2
ffafaa difaeet JH1 390 g 3 gl
® TH-TH ThE & forq w@m fhe 1w
%’qﬂéﬁ'@@%

Teh Toh13 SAATEA & fog
AFYAE 9T "
Et) T A o= B
I 12 3
11 24 4

STYH FHRRI & MERX W 3T YA &
IW I
() 59 W & o9 A& IARA § WY

@Y T2 9% S 5
G) fo@ W H I/ B & IARA H
IS o 82 dsh i) 5

(i) A AT <9 & 9 SAOR BN ©, o
HH-T < IE] A 1 Frafa wm? 4



[7] BECC-132

3. HEEAl % W <y erEed ¥ o Sy ©?
F gul gfearft SR dger Wl <& B @2

SYYE L@ITesll 1 JART hd gL =i hiteg|

5+15

4. (&) fova =MUR T3 (WTO) & Adffed
sTfeteron W == St 5

(@) WITO &I 9Yq@ dfEl &  9Rdd
HfTEE W 1 J9E TS B? 15

HIT—9

FZ 39 97 9 fo=gl g/ uv & S faf@u)
4x12=48

5. GhHd oY R faa oy ¥ 9 #ifvu Sew
AR & 9 & g W == RISl 4+ 8

6. F AT HHEJ & fF o™ oH 1 foER

el & o f9gi< 1 3T SRk Hh!

ok ToredR 22 N0 §amsy 12

7. qof ufqEfiar iR wwifue®) gfeefiar & 9

e HIGU Th THIHURR ®H Ieush |
Gqer frd gehR U @72 4+8

P.T.O.
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8. TsMysR & Hed # g oM, sied o™
T HIUd g & o Gaul W =G hirsw) 12

9. IAEH HRF & &I H W HI AW H1 ol
JRAAIATal den TRy gfaeifiar & &g+l o
Jor il 12

10. IR 1 fawerar & fafay &R w1 €2 =

fowraaet & R & fau TR &1 g8y
e TR SYANT &l 27 6+6

WIT—7
11. fr=fafes & @ ol a7 w wfaw fewfoat
fafey

3x4=12
() Tem (R gEeeht few 3sa)
Gi) faa ===
(iii) HrESIR a1
(iv) STERTY
(v) Hfaw 55
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